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MOMANI Basic Debugging guide
Disclaimer: this document is aimed to help debugging the most frequent errors associated with using MoManI. Modelling errors can be way more than what is mentioned in this brief document. 
[bookmark: _GoBack]
Errors in Momani can be categorized into three main groups: 
· Group 1: Failed installation of the tools.
· Group 2: Unsuccessful model run (Run page disappears immediately).
· Group 3: Errors related to “No Primal feasible solution”. 

Group 1: Failed installation of the tools:
Errors of this group are due to either: 
a. Failed installation of Momani. 
b. Failed installation of GLPK solver. 
How to debug this error?
1. Make sure that you have the correct specifications in you machine:
a. Its strongly recommended to have windows 10, however if not applicable then windows 7 and 8 can be supported if all other requirements are met. 
b. Full administrative right
c. 64 bit Windows operating system
d. An updated version of Windows is recommended. In case of windows 7 and 8; update KBB2999226 is required.
e. RAM: 4 GB and above. 
f. Drive free space of 10 - 20 GB at least

2. Make sure to follow the installation procedure correctly. Please refer to the supporting documents on (MoManI Standalone installation guide) and (GLP installation guide).  
3. Ask for IT support help if all of the above is checked and Momani or GLPK is not operating.
 


Group 2: Incorrect model structure: (page disappearing when running)
In this case after running the simulation, you will get the following error msg as shown in Figure 1: 
‘ERROR: Simulation did not complete successfully
Aborting. No results will be uploaded’
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Figure 1: Errors msg of group 2
This indicates that the model was not developed in the correct way which can be related to one of the following errors: 
How to debug this error?
In the model file:
1. Make sure that you have selected the correct objective function and the relevant groups of constraints. 
2. For Short code, the following need to be selected: 
a. Objective function: OFS_Cost
b. Constraints: (Common_Equations and Short_Code_Equations)
3. For the long code, the following need to be selected: 
a. Objective function: OFL_Cost
b. Constraints: (Common_Equations and Long_Code_Equations)

In the data file: 
a. Missing (SET): The following sets are essential and need to be defined always (Region, Years, Fuels, Technology, Dailytimebraket, Daytype, Season, Mode of operation and Time slices). The rest of the sets can be defined based on the model requirements.   
b. Conflicting or incorrect (Sets): most likely related to seasons, day type, daily time brackets from which Momani will generate the time slices.  
c. Incorrect (input-output activity ratios):
d. Incorrect naming: which means using space (  ) in defining any of the sets. i.e region should be defined as (South_America) and not (South America). 
For more assistance, please ask for trainers help. 

Group 3: Errors related to “No Primal feasible solution”: 
If the solver starts generating the matrix and after some time you get the following errors msg: 
‘PROBLEM HAS NO PRIMAL FEASIBLE SOLUTION’
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Figure 2: Error msg of group 3
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Figure 3: Error msg of group 3

This type of errors indicated an infeasibility in the model that is usually related to conflict in constraints which limits the model form finding the feasible solution. 

How to debug this error?
In the (DATA file): 
The first step is to check a few key parameters which could be binding because of mistakes made by the user when feeding the values. To make this check it is necessary to comment out one by one in the .txt data file the blocks of these parameters as filled in by the user. To do so,
1. Each line with numerical values needs to be commented out with a #, while 
2. The first line, where the name of the parameter is declared, and the final one with the ‘;’ must be left un-commented and 
3. The default value needs to be given a proper value (we indicated it in the list below).
A check list of parameters, sorted by the risk of them causing the infeasibility, is:
1. InputActivityRatio – default value 0
1. OutputActivityRatio – default value 0
1. TotalAnnualMaxCapacity (min) – default value very high (low)
1. TotalAnnualMaxCapacityInvestment (and min) – default value very high (low)
1. TotalTechnologyAnnualActivityUpperLimit (and lower) – default value very high (low)
1. ModelPeriodEmissionLimit (and similar) – default value very high
Other useful and fast checks:
· If storage is included in the model, sometimes the infeasibility comes from the model not being able to comply with the StorageLevelStart and the MinStorageCharge. To check if this is the case, put both parameters = 0;
· Check that the user hasn’t assigned at the same time a SpecifiedAnnualDemand and an AccumulatedAnnualDemand for the same fuel;
· A REMinProductionTarget has been assigned but nothing can satisfy it. This can be checked by assigning value 0 to the target;
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Running MoManI solver version 1.1
hoose solver: press G for GLPK or C for Cplex

licrosoft Windows [Version 10..14393]
(c) 2016 Microsoft Corporation. All rights reserved.

:\Users\almulla\Desktop\MoManI Test Run\Test runs\guidesdel /s /q res
:\Users\almulla\Desktop\MoManI Test Run\Test runs\guide>rndir /s /q res
:\Users\almulla\Desktop\MoManI Test Run\Test runs\guidesmkdir res\csv
:\Users\almulla\Desktop\MoManI Test Run\Test runs\guide>

Running simulation in a separate window, please wait

ERROR: Problem has no promary feasible solution

Aborting. No results will be uploaded
Press ENTER to exit
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Running MoManI solver version 1.1
hoose solver: press G for GLPK or C for Cplex

e
licrosoft Windows [Version 10.0.14393]

(c) 2016 Microsoft Corporation. All rights reserved.
:\Users\almulla\Desktop\MoManI Test Run\Test runs\guidesdel /s /q res
:\Users\almulla\Desktop\MoManI Test Run\Test runs\guide>rndir /s /q res
:\Users\almulla\Desktop\MoManI Test Run\Test runs\guidesmkdir res\csv
:\Users\almulla\Desktop\MoManI Test Run\Test runs\guide>

Running simulation in a separate window, please wait

ERROR: Simulation did not complete successfully

Aborting. No results will be uploaded
Press ENTER to exit
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enerating AAC2_TotalAnnualTechnologyActivityUpperLimit.
enerating AAC3_TotalAnnualTechnologyActivitylowerLimit.
enerating CAa4_Constraint_Capacity
enerating CAbl_PlannedMaintenance
enerating ES_DiscountedEmissionsPenaltyByTechnology.
enerating E6_EmissionsAccountingl
enerating E8_AnnualEmissionsLimit
enerating E9_ModelPeriodEmissionsLimit. ..
enerating EBall_EnergyBalanceEachTSS
enerating EBad_EnergyBalanceEachTS3.
enerating EBb4_EnergyBalanceEachYeard.
enerating RE1_FuelProductionByTechnologyAnnual.
enerating RE4_EnergyConstraint. ..
enerating RM3_ReserveMargin_Constraint. ..
enerating SV1_SalvageValueAtEndOfPeriodl.
enerating SV2_SalvageValueAtEndOfPeriod2. ..
enerating TAC2_TotalModelHorizonTechnologyActivityUpperLimit.
enerating TAC3_TotalModelHorizenTechnologyActivitylowerLimit.
enerating TCC1_TotalAnnualMaxCapacityConstraint
enerating TCC2_TotalAnnualMinCapacityConstraint
del has been successfully generated
LPK Simplex Optimizer, v4.61
34486 rows, 32886 columns, 155363 non-zeros
Preprocessing. ..
PROBLEM HAS NO PRIMAL FEASIBLE SOLUTION
If you need actual output for non-optimal solution, use --nopresol
Time used: 0.0 secs
lemory used: 82.6 Mb (86644066 bytes)
riting basic solution to 'res/output.txt’...
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